NOISE
TekeXe)

o
@ o-m-o

ot 2 i
R18

Omo
oo o Omo

R16 o

4F 9
o R19 .r . csa diFp ©
. C5 C3—||—

LI o -m
C11 @4k R10

DECAY

o
o{R37_Fo o
C12 GIFD | ; -- m
- - Cc2 §
& = oo ooo
Bleosd. T
[\
= 0O
o=R39_[O c14 CE ooi
0-R25_}oO ooo ooo 00[9
C13 Ci15 OO0
°R26 o000/ 000 00
VOLUME 10 A




080
0--0

o100 0
4.7u/50v a
é
0.047

0.0022u
oy =

BC546B

o-mo
'm o> [J@ o0 o0x680 Fo
0.00150 §JF D _||- . o= {8k o
o 15k . N 8 0.027u o
S o<, 47u/50vo 805468 0.027u @4FP
e =
00018uddFP o 0<0)820
(o) (o) (o) 47U/16V (o]
0.0018u G JF P o ° ﬁ_u
= oo 0033
2 BC546B ~
LT ST
o
o o 1u/50v "E o0 1
o o o 000 o o o0
ool
_||_001u 47u/16v OO0
) otz rolongl [aao o3
Volume io o o~

[




1 3 7 8
>
> > g
Y N
E ] B io NOISE
; j 10-1 TRIGGER 5
- g ouT - NOISE
ol _Tio 1
GND PWR GND
GND
> >
BV NN
2 N
& 100
*
cis A1
47u16v
GND
~
=
S
hd =1
p NOISE
2
S 5
= BC546B
N
S x
252
1 8

(GGt

=
=
=

A

C
47uév

ND

A
VWV

x 5 ~
272 g 279 =
8o . =
| 3
| 5
[S)
L L 9 26
s s M AW
B ESE ) o :
Volume: 50K log
L — > VOLUME-3 R2
= e = {ouT]
1 . ~ > > =5 VOLUNGIanTe: out
GND GND =3 gig =S VOLUME-1 10k
zzz
555
GND
>
3
@
= 3
L)Hf
+\
snaredrum
24-11-1515:10
Sheet: 1/1
3 3 7 \ 8




@ O ooo0o0

- | O
3

» 06000

O o{_cH}o

o{ _Id}o

o{ 7H}o ddFd

I

000 00

JNNTOA LNdLNO

IC1
o{R6_}o
)
;

[oX-K-)

O{R5 |




28C945

O ooo0o0

= 068N
Ho

0000

O o{ 689}0

oo
of o dip*

000 00

awn|oA indinp

08
Oof 1+ |
686k }O

AOG/NL

AQL/NLY

(oXeXe)}




Volume
To Lin 100k pot

VOLUME-1
VOLUME-2
VOLUME-3

0

=
%m:

>

o ZIAN —WW——
] 57 o 121\gp 22k .| ca A
7] ? JI——‘ 1u/50v (‘E
GND GND
A 938
L
c3
OUTPL(J?I'L-j}pUt 47u/16v
OUTPUT-2 »—J '2SC945
GND GND GND GND GND
noiseboard
24-12-1516:47
Sheet: 11

2 3 l 4










